

# On super $(a, 1)$ -edge-antimagic total labelings of grids and crowns

Ming-Ju Lee\*

Jen-Teh Junior College of Medicine, Nursing and Management  
Houlong, Miaoli, Taiwan, R.O.C.  
s9241007@cc.ncu.edu.tw

## Abstract

A graph  $G(V, E)$  with order  $p$  and size  $q$  is called  $(a, d)$ -edge-antimagic total labeling graph if there exists a bijective function  $f : V(G) \cup E(G) \rightarrow \{1, 2, \dots, p+q\}$  such that the edge-weights  $\lambda_f(uv) = f(u) + f(v) + f(uv)$ ,  $uv \in E(G)$ , form an arithmetic sequence with first term  $a$  and common difference  $d$ . Such a labeling is called super if the  $p$  smallest possible labels appear at the vertices. In this paper, we study super  $(a, 1)$ -edge-antimagic properties of  $m(P_4 \square P_n)$  for  $m, n \geq 1$  and  $m(C_n \odot \overline{K}_1)$  for  $n$  even and  $m, l \geq 1$ .

## 1 Introduction

All graph mentioned in this paper is finite, undirected and simple. For a graph  $G$ ,  $V(G)$  and  $E(G)$  denote the vertex set and the edge set, respectively. A  $(p, q)$  graph  $G$  is a graph with order  $|V(G)| = p$  and size  $|E(G)| = q$ . For a  $(p, q)$  graph  $G$ , a bijective mapping  $f : V(G) \cup E(G) \rightarrow \{1, 2, \dots, p+q\}$  is a total labeling of  $G$  and the associated edge-weights are  $\lambda_f(uv) = f(u) + f(v) + f(uv)$ , for every  $uv \in E(G)$ . The total labeling is called an  $(a, d)$ -edge-antimagic total labeling ( $(a, d)$ -EAT labeling for short) of  $G$  if the set of all edge-weights equals  $\{a, a+d, a+2d, \dots, a+(q-1)d\}$ , where  $a > 0$  and  $d \geq 0$  are two fixed integers. Furthermore,  $f$  is a super  $(a, d)$ -EAT labeling of  $G$  if the vertex labels are the integers  $\{1, 2, \dots, p\}$ . A graph that admits an  $(a, d)$ -EAT labeling or a super  $(a, d)$ -EAT labeling is called an  $(a, d)$ -EAT graph or a super  $(a, d)$ -EAT graph,

---

\*This research was supported by NSC of R.O.C. under grant NSC 99-2115-M-407-001

respectively.

The definition of an  $(a, d)$ -EAT labeling was introduced by Simanjuntak et al. in [12]. In [14], the authors described how to construct super  $(a, d)$ -EAT labelings of all caterpillars for  $d = 0, 1, 2$  and of certain caterpillars for  $d = 3$ . Some construction of super  $(a, d)$ -EAT labeling for disconnected graphs are presented using the notion of an  $\alpha$ -labeling [1]. Bača et al. also studied super  $(a, d)$ -EAT labeling for path-like trees [6],  $mK_n$  [2],  $mK_{n,n}$  [3],  $mK_{n,n,n}$  [8] and  $mC_n, mP_n$  [9]. Even regular graph and odd regular graph with a 1-factor are super  $(a, 1)$ -EAT, see [5]. The super  $(a, d)$ -EAT properties of  $P_2 \square P_n$ ,  $m(C_n \odot \overline{K_l})$  and  $mP_n \cup \mu C_n$  studied in [13] and [4].

In this paper, we deal with the existence of super  $(a, 1)$ -EAT labeling of  $m(P_4 \square P_n)$  for  $m, n \geq 1$  and  $m(C_n \odot \overline{K_l})$  for  $n$  even and  $m, l \geq 1$ .

## 2 $(a, 1)$ -EAT labeling for grids

The Cartesian product of graphs  $G_1$  and  $G_2$ , written  $G_1 \square G_2$ , is the graph with vertex set  $V(G_1) \times V(G_2)$  specified by putting  $(u, v)$  adjacent to  $(u', v')$  if and only if (1)  $u = u'$  and  $vv' \in E(G_2)$ , or (2)  $v = v'$  and  $uu' \in E(G_1)$ . Let  $P_n$  be a path on  $n$  vertices. We call  $P_l \square P_n$  ( $l, n \geq 2$ ) a grid.

Assuming that  $l, n \geq 2$  are integers. Let  $P_l$  be a path with an ordered list of distinct vertices  $u_1, u_2, \dots, u_l$  such that  $u_{i-1}u_i$  is an edge for all  $2 \leq i \leq l$ . Similarly, we assume a path  $P_n$  as an ordered list  $v_1, v_2, \dots, v_n$  such that all  $v_{i-1}v_i$  are edges. In the graph  $P_l \square P_n$ , the vertex  $(u_i, v_j) \in V(P_l \square P_n)$  is represented by  $w_{i,j}$ , and the edge  $[(u_i, v_j), (u_i, v_{j+1})] \in E(P_l \square P_n)$  is represented by  $e_{i,j}$ , and the edge  $[(u_i, v_j), (u_{i+1}, v_j)] \in E(P_l \square P_n)$  is represented by  $\varepsilon_{i,j}$ . Clearly,  $|V((P_l \square P_n))| = ln$ ,  $|E((P_l \square P_n))| = 2nl - l - n$ .

Let  $A$  be a set,  $A = \{a_1, a_2, \dots, a_n, a_1, a_2, \dots, a_n, \dots, a_1, a_2, \dots, a_n\}$ , in which the amount of  $a_i$  is  $t$  for all  $i = 1, \dots, n$ , we simply denote  $A$  by  $t\{a_1, a_2, \dots, a_n\}$ . As illustrations, if  $A = \{a, b, c, a, b, c\}$ , we denote  $A$  by  $2\{a, b, c\}$ .

**Lemma 2.1** *Let  $A$  be a set,  $A = \{c, c+2, c+4, \dots, c+2k\} \cup t\{c+k-1, c+k, c+k+1\} \cup \{c+k\}$  for positive integers  $c, k$  and  $t$ . For a graph  $G = (p, q)$ , if there exists a bijective function  $h$  from  $V(G)$  onto the set  $\{1, 2, \dots, p\}$  such that the set of edge-sums  $\{s_h(uv) = h(u) + h(v) : uv \in E(G)\}$  equals  $A$ , then  $G$  has a super  $(c+p+k+1, 1)$ -EAT labeling.*

**Proof.** Let  $E(G) = \{e_1, e_2, \dots, e_q\}$ , where  $q = |A| = k + 3t + 2$ . For our convenience, suppose that

$$\begin{cases} s_h(e_i) = c + 2i - 2, & \text{for } i = 1, 2, \dots, k + 1 \\ s_h(e_i) = c + k + 1, & \text{for } i = k + 2, k + 4, \dots, k + 2t \\ s_h(e_i) = c + k - 1, & \text{for } i = k + 3, k + 5, \dots, k + 2t + 1 \\ s_h(e_i) = c + k, & \text{for } i = k + 2t + 2, k + 2t + 3, \dots, k + 3t + 2. \end{cases}$$

Define a bijective total labeling  $f : V(G) \cup E(G) \rightarrow \{1, 2, \dots, p + q\}$  in the following way:

$$\begin{cases} f(u) = h(u), & \text{for } u \in V(G) \\ f(e_i) = p + k + 2 - i, & \text{for } i = 1, 2, \dots, k + 1 \\ f(e_i) = p + i, & \text{for } i = k + 2, k + 3, \dots, k + 3t + 2. \end{cases}$$

The edge-weights  $\lambda_f$  of  $G$  under the labeling  $f$ , constitute the sets

$$\begin{aligned} W_1 &= \{\lambda_f(e_i) = s_h(e_i) + f(e_i) = c + p + k + i : i = 1, 2, \dots, k + 1\} \\ &= \{c + p + k + 1, c + p + k + 2, \dots, c + p + 2k + 1\}, \end{aligned}$$

$$\begin{aligned} W_2 &= \{\lambda_f(e_i) = s_h(e_i) + f(e_i) = c + p + k + i + 1 : i = k + 2, k + 4, \dots, k + 2t\} \\ &= \{c + p + 2k + 3, c + p + 2k + 5, \dots, c + p + 2k + 2t + 1\}, \end{aligned}$$

$$\begin{aligned} W_3 &= \{\lambda_f(e_i) = s_h(e_i) + f(e_i) = c + p + k + i - 1 : i = k + 3, k + 5, \dots, k + 2t + 1\} \\ &= \{c + p + 2k + 2, c + p + 2k + 4, \dots, c + p + 2k + 2t\}, \end{aligned}$$

$$\begin{aligned} W_4 &= \{\lambda_f(e_i) = s_h(e_i) + f(e_i) = c + p + k + i : i = k + 2t + 2, \dots, k + 3t + 2\} \\ &= \{c + p + 2k + 2t + 2, c + p + 2k + 2t + 3, \dots, c + p + 2k + 3t + 2\}. \end{aligned}$$

Hence, the set  $\bigcup_{s=1}^4 W_s = \{c + p + k + 1, c + p + k + 2, \dots, c + p + 2k + 3t + 2\}$  consists of consecutive integers. Thus  $f$  is a super  $(c + p + k + 1, 1)$ -EAT labeling of  $G$ .  $\square$

**Theorem 2.2** *Let  $n \geq 2$  be an integer. Then the graph  $P_4 \square P_n$  is a super  $(8n + 2, 1)$ -EAT.*

**Proof.** Note that  $p = |V(P_4 \square P_n)| = 4n$ ,  $q = |E(P_4 \square P_n)| = 7n - 4$ . We define the vertex labeling  $h : V(P_4 \square P_n) \rightarrow \{1, 2, \dots, 4n\}$  in the following way:

$$\begin{cases} h(w_{1,j}) = 2j - 1, & \text{for } j = 1, 2, \dots, n \\ h(w_{2,j}) = 4n - 2j + 1, & \text{for } j = 1, 2, \dots, n \\ h(w_{3,j}) = 2j, & \text{for } j = 1, 2, \dots, n \\ h(w_{4,j}) = 4n - 2j + 2, & \text{for } j = 1, 2, \dots, n. \end{cases}$$

It is not difficult to see the vertex labeling  $f$  is a bijective function from  $V(P_4 \square P_n)$  onto the set  $\{1, 2, \dots, 4n\}$ . The set of edge-sums  $\{s_h(uv) = h(u) + h(v) : uv \in E(P_4 \square P_n)\}$  is given by:

$$\left\{ \begin{array}{ll} s_h(e_{1,j}) = h(w_{1,j}) + h(w_{1,j+1}) = 4j, & \text{for } j = 1, 2, \dots, n-1 \\ s_h(e_{2,j}) = h(w_{2,j}) + h(w_{2,j+1}) = 8n - 4j, & \text{for } j = 1, 2, \dots, n-1 \\ s_h(e_{3,j}) = h(w_{3,j}) + h(w_{3,j+1}) = 4j + 2, & \text{for } j = 1, 2, \dots, n-1 \\ s_h(e_{4,j}) = h(w_{4,j}) + h(w_{4,j+1}) = 8n - 4j + 2, & \text{for } j = 1, 2, \dots, n-1 \\ s_h(\varepsilon_{1,j}) = h(w_{1,j}) + h(w_{2,j}) = 4n, & \text{for } j = 1, 2, \dots, n \\ s_h(\varepsilon_{2,j}) = h(w_{2,j}) + h(w_{3,j}) = 4n + 1, & \text{for } j = 1, 2, \dots, n \\ s_h(\varepsilon_{3,j}) = h(w_{3,j}) + h(w_{4,j}) = 4n + 2, & \text{for } j = 1, 2, \dots, n. \end{array} \right.$$

That is,

$$\begin{aligned} A_1 &= \{s_h(e_{i,j}) : i = 1, 2, 3, 4; j = 1, 2, \dots, n-1\} \cup \{s_h(\varepsilon_{1,n})\} \cup \{s_h(\varepsilon_{3,n})\} \\ &= \{4, 6, 8, \dots, 4n-2, 4n+4, \dots, 8n-2\} \cup \{4n\} \cup \{4n+2\} \\ &= \{4, 6, 8, \dots, 8n-2\}, \text{ and} \end{aligned}$$

$$\begin{aligned} A_2 &= \{s_h(\varepsilon_{i,j}) : i = 1, 2, 3; j = 1, 2, \dots, n-1\} \cup \{s_h(\varepsilon_{2,n})\} \\ &= (n-1)\{4n, 4n+1, 4n+2\} \cup \{4n+1\}. \end{aligned}$$

Hence, the set  $A_1 \cup A_2$  satisfies the conditions in Lemma 2.1 with  $c = 4$  and  $k = 4n - 3$ . Thus by Lemma 2.1,  $P_4 \square P_n$  is a super  $(8n + 2, 1)$ -EAT graph.  $\square$

In the paper [7] is proved the following theorem:

**Theorem 2.3[7]** *Let  $G$  be a super  $(a, 1)$ -EAT graph. Then the disjoint union of arbitrary number of copies of  $G$ , i.e.  $mG, m \geq 1$ , also admits a super  $(b, 1)$ -EAT labeling.*

Directly from Theorem 2.2 and 2.3 follows:

**Theorem 2.4** *Let  $m \geq 1, n \geq 2$  be integers. Then the graph  $m(P_4 \square P_n)$  is a super  $(b, 1)$ -EAT.*

### 3 $(a, 1)$ -EAT labeling for $l$ -crowns

In [4], the authors studied the super  $(a, d)$ -EAT labeling of  $m(C_n \odot \overline{K}_l)$ . They remained an open problem:

**Open Problem [4]** *For the graph  $m(C_n \odot \overline{K}_l)$ ,  $m$  odd and  $n(l+1)$  even, it would determine if there is a super  $(a, 1)$ -EAT labeling.*

In this section, we show the open problem is true for even  $n$ .

The  $l$ -crowns, denoted by  $C_n \odot \overline{K}_l$ , is the graph with vertex set  $V(C_n \odot \overline{K}_l) = \{c_i : 1 \leq i \leq n\} \cup \{x_{i,k} : 1 \leq i \leq n, 1 \leq k \leq l\}$  and the edge set  $E(C_n \odot \overline{K}_l) = \{c_i c_{i+1} : 1 \leq i \leq n-1\} \cup \{c_n c_1\} \cup \{c_i x_{i,k} : 1 \leq i \leq n, 1 \leq k \leq l\}$ . Clearly,  $|V(C_n \odot \overline{K}_l)| = |E(C_n \odot \overline{K}_l)| = n(l+1)$ .

**Lemma 3.1** *Let  $A$  be a set,  $A = \{c, c+1, c+2, \dots, c+k\} \cup \{c + \frac{k}{2}\}$ ,  $k$  even. For a graph  $G = (p, q)$ , if there exists a bijective function  $h$  from  $V(G)$  onto the set  $\{1, 2, \dots, p\}$  such that the set of edge-sums  $\{s_h(uv) = h(u) + h(v) : uv \in E(G)\}$  equals  $A$ , then  $G$  has a super  $(c + p + \frac{k}{2} + 1, 1)$ -EAT labeling.*

**Proof.** Let  $E(G) = \{e_0, e_1, \dots, e_{q-1}\}$ , where  $q = |A| = k + 2$ . For our convenience, suppose that

$$\begin{cases} s_h(e_i) = c + i, & \text{for } i = 0, 1, 2, \dots, k \\ s_h(e_{k+1}) = c + \frac{k}{2}. \end{cases}$$

Define a bijective total labeling  $f : V(G) \cup E(G) \rightarrow \{1, 2, \dots, p + q\}$  in the following way:

$$\begin{cases} f(u) = h(u), & \text{for } u \in V(G) \\ f(e_i) = p + \frac{k-i}{2} + 1, & \text{for } i = 0, 2, 4, \dots, k \\ f(e_i) = p + k - \frac{i+1}{2} + 2, & \text{for } i = 1, 3, 5, \dots, k-1 \\ f(e_{k+1}) = p + k + 2. \end{cases}$$

The edge-weights  $\lambda_f$  of  $G$  under the labeling  $f$ , constitute the sets:

$$W_1 = \{\lambda_f(e_i) = s_h(e_i) + f(e_i) = c + p + \frac{k+i}{2} + 1 : i = 0, 2, 4, \dots, k\}$$

$$= \{c + p + \frac{k}{2} + 1, c + p + \frac{k}{2} + 2, \dots, c + p + k + 1\},$$

$$W_2 = \{\lambda_f(e_i) = s_h(e_i) + f(e_i) = c + p + k + \frac{i+3}{2} : i = 1, 3, \dots, k-1\}$$

$$= \{c + p + k + 2, c + p + k + 3, \dots, c + p + \frac{3k}{2} + 1\},$$

$$W_3 = \{\lambda_f(e_{k+1}) = s_h(e_{k+1}) + f(e_{k+1}) = c + p + \frac{3k}{2} + 2\}.$$

Hence, the set  $\bigcup_{s=1}^3 W_s = \{c + p + \frac{k}{2} + 1, c + p + \frac{k}{2} + 2, \dots, c + p + \frac{3k}{2} + 2\}$  consists of consecutive integers. Thus  $f$  is a super  $(c + p + \frac{k}{2} + 1, 1)$ -EAT labeling of  $G$ .  $\square$

**Theorem 3.2** *Let  $l$  be a positive integer and  $n \geq 2$  be even. Then the graph  $C_n \odot \overline{K_l}$  is a super  $(2n(l+1) + 2, 1)$ -EAT.*

**Proof.** Note that  $|V(C_n \odot \overline{K_l})| = |E(C_n \odot \overline{K_l})| = n(l+1)$ . We distinguish the proof into two cases for  $n = 4t$  and  $n = 4t + 2$ .

Case 1.  $n = 4t$ .

We define the vertex labeling  $h : V(C_n \odot \overline{K_l}) \rightarrow \{1, 2, \dots, n(l+1)\}$  in the following way:

$$\begin{aligned}
 A_4 &= \{s_n(c_i x_i; k) : i = 4s + 3, k = 1, 2, \dots, l\} \\
 &= \{2t(l+k) + s + 2 : k = 1, 2, \dots, l; s = 0, 1, \dots, t-1\} \\
 &= \{2t(l+1) + 2, 2t(l+1) + 3, \dots, 2t(l+1) + t + 1, \\
 &\quad 2t(l+2) + 2, 2t(l+2) + 3, \dots, 2t(l+2) + t + 1, \\
 &\quad \dots, \\
 &\quad 2t(3l+2) + 2, 2t(3l+2) + 3, \dots, 2t(3l+2) + t + 1, \\
 &\quad \dots, \\
 &\quad 2t(2l+4) + 4, 2t(2l+4) + 5, \dots, 2t(2l+4) + t + 1, \\
 &= \{2t(2l+3) + 3, 2t(2l+3) + 4, \dots, 2t(2l+3) + t + 1, \\
 &= \{2t(2l+2) + k + 2, 2t(2l+2) + k + 3, \dots, 2t(2l+2) + t + 1, \\
 &\quad 2t(2l+3) + 3, 2t(2l+3) + 4, \dots, 2t(2l+3) + t + 1, \\
 &\quad \dots, \\
 &\quad 2t(3l+2) + 2, 2t(3l+2) + 3, \dots, 2t(3l+2) + t + 1, \\
 &= \{2t(2l+2) + k + 2, 2t(2l+2) + k + 3, \dots, 2t(2l+2) + t + 1, \\
 &= \{2t(2l+1) + 1, 2t(2l+1) + 2, \dots, 2t(2l+1) + 4t\}, \\
 A_1 &= \{s_n(c_i c_{i+1}) : i = 1, 2, \dots, 4t-1\}
 \end{aligned}$$

That is,

$$\left\{ \begin{aligned}
 s_n(c_i x_i; k) &= h(c_i) + h(x_i; k) = 2t(l+k) + t + s + 2, & \text{for } i = 4s + 4, \\
 s_n(c_i x_i; k) &= h(c_i) + h(x_i; k) = 2t(l+k) + s + 2, & \text{for } i = 4s + 3, \\
 s_n(c_i x_i; k) &= h(c_i) + h(x_i; k) = 2t(2l+k+2) + t + s + 1, & \text{for } i = 4s + 2, \\
 s_n(c_i x_i; k) &= h(c_i) + h(x_i; k) = 2t(2l+k+2) + s + 1, & \text{for } i = 4s + 1
 \end{aligned} \right.$$

and for  $k = 1, 2, \dots, l$ ,

$$\left\{ \begin{aligned}
 s_n(c_i c_{i+1}) &= h(c_i) + h(c_{i+1}) = 2t(2l+2) + 1, \\
 s_n(c_i c_{i+1}) &= h(c_i) + h(c_{i+1}) = 2t(2l+1) + i + 1, & \text{for } i = 1, 2, \dots, 4t-1
 \end{aligned} \right.$$

$\{s_n(uv) = h(u) + h(v) : uv \in E(C_n \circ \underline{K}_l)\}$  is given by:

from  $V(C_n \circ \underline{K}_l)$  onto the set  $\{1, 2, \dots, n(l+1)\}$ . The set of edge-sums

It is not difficult to see the vertex labeling  $h$  is a bijective function

$$\left\{ \begin{aligned}
 h(c_i) &= 2t(l+1) + \frac{i}{2}, & \text{for } i = 2, 4, \dots, 4t \\
 h(x_i; k) &= 2t(k+l+2) - s, & \text{for } i = 4s + 1, k = 1, 2, \dots, l \\
 h(x_i; k) &= 2t(k+l+1) + t - s, & \text{for } i = 4s + 2, k = 1, 2, \dots, l \\
 h(x_i; k) &= 2t(k+l+1) + t - s, & \text{for } i = 4s + 3, k = 1, 2, \dots, l \\
 h(x_i; k) &= 2t(k+l+1) + t - s, & \text{for } i = 4s + 4, k = 1, 2, \dots, l.
 \end{aligned} \right.$$

.....,

$$2t(2l) + 2, 2t(2l) + 3, \dots, 2t(2l) + t + 1\},$$

$$A_5 = \{s_h(c_i x_{i,k}) : i = 4s + 4, k = 1, 2, \dots, l\}$$

$$= \{2t(l+k) + t + s + 2 : k = 1, 2, \dots, l; s = 0, 1, \dots, t-1\}$$

$$= \{2t(l+1) + t + 2, 2t(l+1) + t + 3, \dots, 2t(l+1) + 2t + 1,$$

$$2t(l+2) + t + 2, 2t(l+2) + t + 3, \dots, 2t(l+2) + 2t + 1,$$

.....,

$$2t(2l) + t + 2, 2t(2l) + t + 3, \dots, 2t(2l) + 2t + 1\},$$

$$A_6 = \{s_h(c_{4t} c_1) = 2t(2l+2) + 1\}.$$

Hence, the set  $A = (\bigcup_{i=1}^5 A_i) \cup A_6 = \{2t(l+1)+2, 2t(l+1)+3, \dots, t(3l+2) + 2t\} \cup \{2t(2l+2) + 1\}$  satisfies the conditions in Lemma 3.1 with  $c = 2t(l+1) + 2$  and  $k = 4t(l+1) - 2$ . Thus by Lemma 3.1,  $C_{4t} \odot \overline{K}_l$  is a super  $(c+p+\frac{k}{2}+1, 1)$ -EAT graph, i.e.  $C_n \odot \overline{K}_l$  is a super  $(2n(l+1)+2, 1)$ -EAT.

Case 2.  $n = 4t + 2$ .

We define the vertex labeling  $h : V(C_n \odot \overline{K}_l) \rightarrow \{1, 2, \dots, n(l+1)\}$  in the following way:

$$\begin{cases} h(c_i) = (2t+1)l + \frac{i+1}{2}, & \text{for } i = 1, 3, \dots, 4t+1 \\ h(c_i) = (2t+1)(l+1) + \frac{i}{2}, & \text{for } i = 2, 4, \dots, 4t+2 \\ h(x_{i,k}) = (2t+1)(k+l+2) - s, & \text{for } i = 4s+1, k = 1, 2, \dots, l \\ h(x_{i,k}) = (2t+1)k - t - s, & \text{for } i = 4s+2, k = 1, 2, \dots, l \\ h(x_{i,k}) = (2t+1)k - s, & \text{for } i = 4s+3, k = 1, 2, \dots, l \\ h(x_{i,k}) = (2t+1)(k+l+1) + t - s, & \text{for } i = 4s+4, k = 1, 2, \dots, l. \end{cases}$$

It is not difficult to see the vertex labeling  $h$  is a bijective function from  $V(C_n \odot \overline{K}_l)$  onto the set  $\{1, 2, \dots, n(l+1)\}$ . The set of edge-sums  $\{s_h(uv) = h(u) + h(v) : uv \in E(C_n \odot \overline{K}_l)\}$  is given by:

$$\begin{cases} s_h(c_i c_{i+1}) = h(c_i) + h(c_{i+1}) = (2t+1)(2l+1) + i + 1, & \text{for } i = 1, 2, \dots, 4t+1 \\ s_h(c_{4t+2} c_1) = h(c_{4t+2}) + h(c_1) = (2t+1)(2l+2) + 1, \end{cases}$$

and for  $k = 1, 2, \dots, l$ ,

$$\begin{cases} s_h(c_i x_{i,k}) = h(c_i) + h(x_{i,k}) = (2t+1)(2l+k+2) + s + 1, & \text{for } i = 4s+1 \\ s_h(c_i x_{i,k}) = h(c_i) + h(x_{i,k}) = (2t+1)(l+k) + t + s + 2, & \text{for } i = 4s+2 \\ s_h(c_i x_{i,k}) = h(c_i) + h(x_{i,k}) = (2t+1)(l+k) + s + 2, & \text{for } i = 4s+3 \\ s_h(c_i x_{i,k}) = h(c_i) + h(x_{i,k}) = (2t+1)(2l+k+2) + t + s + 2, & \text{for } i = 4s+4. \end{cases}$$

That is,

$$A_1 = \{s_h(c_i c_{i+1}) : i = 1, 2, \dots, 4t+1\}$$

$$= \{(2t+1)(2l+1) + 2, (2t+1)(2l+1) + 3, \dots, (2t+1)(2l+1) + 4t + 2\},$$

$$A_2 = \{s_h(c_i x_{i,k}) : i = 4s+1, k = 1, 2, \dots, l\}$$

$$\begin{aligned}
&= \{(2t+1)(2l+k+2) + s + 1 : k = 1, 2, \dots, l; s = 0, 1, \dots, t\} \\
&= \{(2t+1)(2l+3) + 1, (2t+1)(2l+3) + 2, \dots, (2t+1)(2l+3) + t + 1, \\
&\quad (2t+1)(2l+4) + 1, (2t+1)(2l+4) + 2, \dots, (2t+1)(2l+4) + t + 1, \\
&\quad \dots, \\
&\quad (2t+1)(3l+2) + 1, (2t+1)(3l+2) + 2, \dots, (2t+1)(3l+2) + t + 1\}, \\
A_3 &= \{s_h(c_i x_{i,k}) : i = 4s + 2, k = 1, 2, \dots, l\} \\
&= \{(2t+1)(l+k) + t + s + 2 : k = 1, 2, \dots, l; s = 0, 1, \dots, t\} \\
&= \{(2t+1)(l+1) + t + 2, (2t+1)(l+1) + t + 3, \dots, (2t+1)(l+1) + 2t + 2, \\
&\quad (2t+1)(l+2) + t + 2, (2t+1)(l+2) + t + 3, \dots, (2t+1)(l+2) + 2t + 2, \\
&\quad \dots, \\
&\quad (2t+1)(2l) + t + 2, (2t+1)(2l) + t + 3, \dots, (2t+1)(2l) + 2t + 2\}, \\
A_4 &= \{s_h(c_i x_{i,k}) : i = 4s + 3, k = 1, 2, \dots, l\} \\
&= \{(2t+1)(l+k) + s + 2 : k = 1, 2, \dots, l; s = 0, 1, \dots, t-1\} \\
&= \{(2t+1)(l+1) + 2, (2t+1)(l+1) + 3, \dots, (2t+1)(l+1) + t + 1, \\
&\quad (2t+1)(l+2) + 2, (2t+1)(l+2) + 3, \dots, (2t+1)(l+2) + t + 1, \\
&\quad \dots, \\
&\quad (2t+1)(2l) + 2, (2t+1)(2l) + 3, \dots, (2t+1)(2l) + t + 1\}, \\
A_5 &= \{s_h(c_i x_{i,k}) : i = 4s + 4, k = 1, 2, \dots, l\} \\
&= \{(2t+1)(2l+k+2) + t + s + 2 : k = 1, 2, \dots, l; s = 0, 1, \dots, t-1\} \\
&= \{(2t+1)(2l+3) + t + 2, (2t+1)(2l+3) + t + 3, \dots, (2t+1)(2l+3) + 2t + 1, \\
&\quad (2t+1)(2l+4) + t + 2, (2t+1)(2l+4) + t + 3, \dots, (2t+1)(2l+4) + 2t + 1, \\
&\quad \dots, \\
&\quad (2t+1)(3l+2) + t + 2, (2t+1)(3l+2) + t + 3, \dots, (2t+1)(3l+2) + 2t + 1\}, \\
A_6 &= \{s_h(c_{4t+2} c_1) = (2t+1)(2l+2) + 1\}.
\end{aligned}$$

Hence, the set  $A = (\bigcup_{i=1}^5 A_i) \cup A_6 = \{(2t+1)(l+1) + 2, (2t+1)(l+1) + 3, \dots, (2t+1)(3l+2) + 2t + 1\} \cup \{(2t+1)(2l+2) + 1\}$ , which satisfies the conditions in Lemma 3.1 with  $c = (2t+1)(l+1) + 2$  and  $k = (2t+1)(2l+2) - 2$ . Thus by Lemma 3.1,  $C_{4t+2} \odot \overline{K}_l$  is a super  $(c + p + \frac{k}{2} + 1, 1)$ -EAT graph, i.e.  $C_n \odot \overline{K}_l$  is a super  $(2n(l+1) + 2, 1)$ -EAT.  $\square$

Directly from Theorem 3.2 and 2.3 follows:

**Theorem 3.3** *Let  $l, m$  be positive integers and  $n \geq 2$  be even. Then the graph  $m(C_n \odot \overline{K}_l)$  is a super  $(b, 1)$ -EAT.*



## References

- [1] M. Bača, On connection between  $\alpha$ -labelings and edge-antimagic labelings of disconnected graphs, **Ars Combin.**(in press).
- [2] M. Bača, C. Barrientos, On super edge-antimagic total labelings of  $mK_n$ , **Discrete Math.** 308(2008)5032-5037.
- [3] M. Bača, L. Brankovic, Edge-antimagicness for a class of disconnected graphs, **Ars Combin.** 97A(2010)145-152.
- [4] M. Bača, Dafik, M. Miller, J. Ryan, Antimagic labeling of disjoint union of  $s$ -crowns, **Util. Math.** 79(2009)193-205.
- [5] M. Bača, P. Kovář, A. S.-Feňovčíková, M.K. Shafiq, On super  $(a, 1)$ -edge-antimagic total labelings of regular graphs, **Discrete Math.** 310(2010)1408-1412.
- [6] M. Bača, Y. Lin, F.A. Muntaner-Batle, Super edge-antimagic labelings of the path-like trees, **Util. Math.** 73(2007)117-128.
- [7] M. Bača, Y. Lin, A. S.-Feňovčíková, Note on super antimagicness of disconnected graphs, **AKCE J. Graph. Combin.** 6(2009)47-55.
- [8] Dafik, M. Miller, J. Ryan, M. Bača, Super edge-antimagic total labelings of  $mK_{n,n,n}$ , **Ars Combin.** 101(2011)97-107.
- [9] Dafik, M. Miller, J. Ryan, M. Bača, On super  $(a, d)$ -edge-antimagic total labelings of disconnected graphs, **Discrete Math.** 309(2009)4909-4915.
- [10] J.A. Gallian, A dynamic survey of graph labeling, **Electronic J. Combinatorics** 5, DS6(2007).
- [11] M.-J Lee, C. Lin, W.-H Tsai, On antimagic labeling for power of cycles, **ARS Combin.** 98(2011)161-165.
- [12] R. Simanjuntak, F. Bertault, M. Miller, Two new  $(a, d)$ -antimagic graph labelings, in: **Proc. of Eleventh Australasian Workshop on Combinatorial Algorithms(2000)**179-189.
- [13] K.A. Sugeng, M. Miller, M. Bača, Super edge-antimagic total labelings, **Util. Math.** 71(2006)131-141.
- [14] K.A. Sugeng, M. Miller, Slamir, M. Bača,  $(a, d)$ -edge-antimagic total labelings of caterpillars, **Lect. Notes Comput. Sci.** 3330(2005)169-180.